7\ X - Sx+C

(%) c-

Y - SX+ %

25

c_l,



~N-BRrC

by D =4
bi— dac = ¢ |
[_354(_2)(@_"— |

e




%) E
j/o

55
(25+x)(19+>)= 10
0O

x&sfw-‘i 50~ D
s\ x*+350)= D

7(—_-_\52-%.










30 n4Q +lax + X
/nqvfmi + [nX

(‘{Off ><>
Jn0%)






13.) loﬁ

4:)_.

v
lng

| -
= 195

DL



4.5 Properties of Logarithms - Cont.

nl=0
REVIEW - Evaluate.
) log,125= 9 log,l = )
= ] 1 H
b) log,,3 = /3 )log4(§) — .%:
Olne* = & g) 7lm!s = 19
72X

d) log1000 ~ E L.)X = ‘&; ) g



ex: Between which two consecutive integers does each value
lie?

loe7 g, 4 < o, 7 < Jpoy,8
;1 4 ]UQQ;) < b

b) log 5 l%\o\ 4\06“’5 L \9%10
O 4\96106 L |



L

_ )
a)log, x> +y> 5\0656("-5

REVIEW - Expand. )

4 3

10y°z

(o) = SIX=InlD-Hng=3h=



REVIEW - Condense.

a) 3lnx - 51n§\+ +4ln2

nx—kwy+g)+lnl&’
( 1%
(yr=)*
b) log,a - 410g.i 4

)093 \Dgsb



ex: Evaluate.

a) log,54-log,2 = /nggr] =3



ex: Evaluate.
C) 9(0g., 2()—]01_'.,4)
q |o3q 5

logy 5
d) 9 ‘0635

(37_>\°335 _ 5'2 _ 5

E) 2 log, 15+log, 9

" 5

09,3

215



ex: Let

x=log2 y=1log3 z=log7

Rewrite each expression in terms of x, y and z.
a) logl4 = ‘057 + \USQ = T, T
09 (7-2)



ex: Let 109 lD:I
x=log2 y=1log3 z=log7

Rewrite each expression in terms of x, y and z.

b) lOg243 9 log30 d) logSw
log 3 log(10-2) 087>
5\05 /DB |0+ }033 )98 \D"’[Vﬁg

59 1+y | =X



ex: Let

log,3~1.585 log, 5=2.322
Approximate each expression. ‘OQ')H = 2
a) log, b) log, 20
log. (3 5) ‘09 (45) -
Iogz?)"l' ng;_, )99:,(‘, ¥ IDS";;
1.68S +2.32% 3 3‘?’)_
L\.}D

3901



Change of Base Formula (ﬂ[ﬁ’ CUF\A@\S;(\ﬁ ‘ >

log, x = )Dq X — JNX
ng Inb

bﬂ.SES + ( It is best to use
VS 3 In or log
’ (because of the

Ug 3 b functions on

the calculator)



ex: Rewrite using common or natural logarithms.
Then evaluate on your calculator.

a) log,11 = )95” = quq
03l N

BGES

,9638)
9

2.930

b) log, 25

I




ex: Evaluate.

In&
a_
In2

b)log64
log?2

" log, 5

log, 125




4.5 Extra Practice WKST

*See printout.



